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Aufgabe 1.

. 1.3 1.6 1.4 1.2 L. 1
F(l) gx gx 11 x 51’ 11 11 ng
f(x) x? x° 3 1 x x x?
f(z) 2x 5t 3z 0 1 102 423

Aufgabe 2.
3 2 1,4 —13 6 1.5 a k.2
F(z) x 0,252 0 =T 10T g 5T
T 3z2 0,5z 0,123 —1325 L4 a-x? z
f(x) ; : 3 z
"(z 6 0,5 0,3z2 —652* 223 2azx 1
f ) ) k
Aufgabe 3.
F(z) | 223+ | Sab+ 32t | o' =322 | o+ 52% | 323 +22 | dga't + 2a® | 0,125 + 0,523 + 10z
x 202 4+ 1 | fa® 4623 |42 32 | 14+ 312% | 2(z+2) | 0,120 + az? | 0,52% + 1,522 4 10
2 1
f(z) | 4z 2,504 +182% | 1222 -3 | ix 2r +2 2% + dax® 223 + 3w
Aufgabe 4.
F(x) x! -1 %x% %x% -3z 72 2/x 272
flx) —x? 5 z2 N x73 ﬁ Va3
I Y

el
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